Surds

(a) Write V45 in the form av5, where a is an integer.

2(3+5)

(b) Express ———— in the form b + c\/5, where b and c are integers.

(3-5)

(a) Expand and simplify (4 + V3) (4 — \3).

(b) Express in the form a + b\3, where a and b are integers.

26
4++3

(a) Express V108 in the form aV3, where a is an integer.

(b) Express (2 — ¥3)2 in the form b + cV3, where b and ¢ are integers to be found.

Simplify (3 + V5)(3 = V5).

Simplify
5-43
2+V3 "

giving your answer in the form a + b\3, where a and b are integers.

Expand and simplify (7 + 2)(\7 - 2).

Simplify
(@) (3N7)?

(b) (8 +5)(2—15)

(a) Expand and simplify (7 + V5)(3 = \5).

7+5
b) Express
(b) Exp 3+15

in the form a + b\/5, where a and b are integers.
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Write
N(75) = N(27)

in the form k Vx, where k and x are integers.

(2)

Simplify
5-2+3
V3-1

giving your answer in the form p + g3, where p and q are rational numbers.
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